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NEW QUESTION 1
A company needs guaranteed Amazon EC2 capacity in three specific Availability Zones in a specific AWS Region for an upcoming event that will last 1 week.
What should the company do to guarantee the EC2 capacity?

A. Purchase Reserved instances that specify the Region needed

B. Create an On Demand Capacity Reservation that specifies the Region needed

C. Purchase Reserved instances that specify the Region and three Availability Zones needed

D. Create an On-Demand Capacity Reservation that specifies the Region and three Availability Zones needed

Answer: D

Explanation:

Explanation

https://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/ec2-capacity-reservations.html: "When you create a Capacity Reservation, you specify:
The Availability Zone in which to reserve the capacity”

NEW QUESTION 2

A company uses a popular content management system (CMS) for its corporate website. However, the required patching and maintenance are burdensome. The
company is redesigning its website and wants anew solution. The website will be updated four times a year and does not need to have any dynamic content
available. The solution must provide high scalability and enhanced security.

Which combination of changes will meet these requirements with the LEAST operational overhead? (Choose two.)

A. Deploy an AWS WAF web ACL in front of the website to provide HTTPS functionality

B. Create and deploy an AWS Lambda function to manage and serve the website content

C. Create the new website and an Amazon S3 bucket Deploy the website on the S3 bucket with static website hosting enabled
D. Create the new websit

E. Deploy the website by using an Auto Scaling group of Amazon EC2 instances behind an Application Load Balancer.

Answer: AD

NEW QUESTION 3

A company is developing a file-sharing application that will use an Amazon S3 bucket for storage. The company wants to serve all the files through an Amazon
CloudFront distribution. The company does not want the files to be accessible through direct navigation to the S3 URL.

What should a solutions architect do to meet these requirements?

A. Write individual policies for each S3 bucket to grant read permission for only CloudFront access.

B. Create an IAM use

C. Grant the user read permission to objects in the S3 bucke

D. Assign the user to CloudFront.

E. Write an S3 bucket policy that assigns the CloudFront distribution ID as the Principal and assigns the target S3 bucket as the Amazon Resource Name (ARN).
F. Create an origin access identity (OAI). Assign the OAI to the CloudFront distributio

G. Configure the S3 bucket permissions so that only the OAI has read permission.

Answer: D

Explanation:

Explanation

https://aws.amazon.com/premiumsupport/knowledge-center/cloudfront-access-to-amazon-s3/
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/private-content-restricting-access-to-s3

NEW QUESTION 4

An application runs on an Amazon EC2 instance in a VPC. The application processes logs that are stored in an Amazon S3 bucket. The EC2 instance needs to
access the S3 bucket without connectivity to the internet.

Which solution will provide private network connectivity to Amazon S3?

A. Create a gateway VPC endpoint to the S3 bucket.

B. Stream the logs to Amazon CloudWatch Log

C. Export the logs to the S3 bucket.

D. Create an instance profile on Amazon EC2 to allow S3 access.

E. Create an Amazon API Gateway API with a private link to access the S3 endpoint.

Answer: A

NEW QUESTION 5

A company is migrating applications to AWS. The applications are deployed in different accounts. The company manages the accounts centrally by using AWS
Organizations. The company's security team needs a single sign-on (SSO) solution across all the company's accounts. The company must continue managing the
users and groups in its on-premises self-managed Microsoft Active Directory.

Which solution will meet these requirements?

A. Enable AWS Single Sign-On (AWS SSO) from the AWS SSO consol

B. Create a one-way forest trust or a one-way domain trust to connect the company's self-managed Microsoft Active Directory with AWS SSO by using AWS
Directory Service for Microsoft Active Directory.

C. Enable AWS Single Sign-On (AWS SSO) from the AWS SSO consol

D. Create a two-way forest trust to connect the company's self-managed Microsoft Active Directory with AWS SSO by using AWS Directory Service for Microsoft
Active Directory.

E. Use AWS Directory Servic

F. Create a two-way trust relationship with the company's self-managed Microsoft Active Directory.
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G. Deploy an identity provider (IdP) on premise
H. Enable AWS Single Sign-On (AWS SSO) from the AWS SSO console.

Answer: A

NEW QUESTION 6

A company hosts a marketing website in an on-premises data center. The website consists of static documents and runs on a single server. An administrator
updates the website content infrequently and uses an SFTP client to upload new documents.

The company decides to host its website on AWS and to use Amazon CloudFront. The company's solutions architect creates a CloudFront distribution. The
solutions architect must design the most cost-effective and resilient architecture for website hosting to serve as the CloudFront origin.

Which solution will meet these requirements?

. Create a virtual server by using Amazon Lightsai
. Configure the web server in the Lightsail instance.Upload website content by using an SFTP client.
. Create an AWS Auto Scaling group for Amazon EC2 instance
. Use an Application Load Balancer.Upload website content by using an SFTP client.
. Create a private Amazon S3 bucke
Use an S3 bucket policy to allow access from a CloudFront origin access identity (OAl). Upload website content by using theAWSCLI.
. Create a public Amazon S3 bucke
. Configure AWS Transfer for SFT
I. Configure the S3 bucket for website hostin
J. Upload website content by using the SFTP client.

IOMNMmMmOoOO >

Answer: D

NEW QUESTION 7

A solutions architect must design a highly available infrastructure for a website. The website is powered by Windows web servers that run on Amazon EC2
instances. The solutions architect must implement a solution that can mitigate a large-scale DDoS attack that originates from thousands of IP addresses.
Downtime is not acceptable for the website.

Which actions should the solutions architect take to protect the website from such an attack? (Select TWO.)

A. Use AWS Shield Advanced to stop the DDoS attack.

B. Configure Amazon GuardDuty to automatically block the attackers.

C. Configure the website to use Amazon CloudFront for both static and dynamic content.

D. Use an AWS Lambda function to automatically add attacker IP addresses to VPC network ACLs.

E. Use EC2 Spot Instances in an Auto Scaling group with a target tracking scaling policy that is set to 80% CPU utilization

Answer: AC

NEW QUESTION 8

A company is implementing a shared storage solution for a media application that is hosted m the AWS Cloud The company needs the ability to use SMB clients to
access data The solution must he fully managed.

Which AWS solution meets these requirements?

A. Create an AWS Storage Gateway volume gatewa

B. Create a file share that uses the required client protocol Connect the application server to the tile share.

C. Create an AWS Storage Gateway tape gateway Configure (apes to use Amazon S3 Connect the application server lo the tape gateway

D. Create an Amazon EC2 Windows instance Install and configure a Windows file share role on the instanc

E. Connect the application server to the file share.

F. Create an Amazon FSx for Windows File Server tile system Attach the fie system to the origin server.Connect the application server to the tile system

Answer: D

NEW QUESTION 9

A company is designing an application. The application uses an AWS Lambda function to receive information through Amazon API Gateway and to store the
information in an Amazon Aurora PostgreSQL database.

During the proof-of-concept stage, the company has to increase the Lambda quotas significantly to handle the high volumes of data that the company needs to
load into the database. A solutions architect must recommend a new design to improve scalability and minimize the configuration effort.

Which solution will meet these requirements?

A. Refactor the Lambda function code to Apache Tomcat code that runs on Amazon EC2 instances.Connect the database by using native Java Database
Connectivity (JDBC) drivers.

B. Change the platform from Aurora to Amazon DynamoD

C. Provision a DynamoDB Accelerator (DAX) cluste

D. Use the DAX client SDK to point the existing DynamoDB API calls at the DAX cluster.

E. Set up two Lambda function

F. Configure one function to receive the informatio

G. Configure the other function to load the information into the databas

H. Integrate the Lambda functions by using Amazon Simple Notification Service (Amazon SNS).

I. Set up two Lambda function

J. Configure one function to receive the informatio

K. Configure the other function to load the information into the databas

L. Integrate the Lambda functions by using an Amazon Simple Queue Service (Amazon SQS) queue.

Answer: D
Explanation:

Explanation
bottlenecks can be avoided with queues (SQS).
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NEW QUESTION 10
A company needs to review its AWS Cloud deployment to ensure that its Amazon S3 buckets do not have unauthorized configuration changes.
What should a solutions architect do to accomplish this goal?

A. Turn on AWS Config with the appropriate rules.

B. Turn on AWS Trusted Advisor with the appropriate checks.

C. Turn on Amazon Inspector with the appropriate assessment template.
D. Turn on Amazon S3 server access loggin

E. Configure Amazon EventBridge (Amazon Cloud Watch Events).

Answer: A

NEW QUESTION 10

A company's application integrates with multiple software-as-a-service (SaaS) sources for data collection. The company runs Amazon EC2 instances to receive
the data and to upload the data to an Amazon S3 bucket for analysis. The same EC2 instance that receives and uploads the data also sends a notification to the
user when an upload is complete. The company has noticed slow application performance and wants to improve the performance as much as possible.

Which solution will meet these requirements with the LEAST operational overhead?

A. Create an Auto Scaling group so that EC2 instances can scale ou

B. Configure an S3 event notification to send events to an Amazon Simple Notification Service (Amazon SNS) topic when the upload to the S3 bucket is complete.
C. Create an Amazon AppFlow flow to transfer data between each SaaS source and the S3 bucket.Configure an S3 event notification to send events to an
Amazon Simple Notification Service (Amazon SNS) topic when the upload to the S3 bucket is complete.

D. Create an Amazon EventBridge (Amazon CloudWatch Events) rule for each SaaS source to send output dat

E. Configure the S3 bucket as the rule's targe

F. Create a second EventBridge (CloudWatch Events) rule to send events when the upload to the S3 bucket is complet

G. Configure an Amazon Simple Notification Service (Amazon SNS) topic as the second rule's target.

H. Create a Docker container to use instead of an EC2 instanc

I. Host the containerized application on Amazon Elastic Container Service (Amazon ECS). Configure Amazon CloudWatch Container Insights to send events to an
Amazon Simple Notification Service (Amazon SNS) topic when the upload to the S3 bucket is complete.

Answer: B

NEW QUESTION 14

A company has an on-premises application that generates a large amount of time-sensitive data that is backed up to Amazon S3. The application has grown and
there are user complaints about internet bandwidth limitations. A solutions architect needs to design a long-term solution that allows for both timely backups to
Amazon S3 and with minimal impact on internet connectivity for internal users.

Which solution meets these requirements?

A. Establish AWS VPN connections and proxy all traffic through a VPC gateway endpoint

B. Establish a new AWS Direct Connect connection and direct backup traffic through this new connection.

C. Order daily AWS Snowball devices Load the data onto the Snowball devices and return the devices to AWS each day.

D. Submit a support ticket through the AWS Management Console Request the removal of S3 service limits from the account.

Answer: B

NEW QUESTION 19

A company stores call transcript files on a monthly basis. Users access the files randomly within 1 year of the call, but users access the files infrequently after 1
year. The company wants to optimize its solution by giving users the ability to query and retrieve files that are less than 1-year-old as quickly as possible. A delay
in retrieving older files is acceptable.

Which solution will meet these requirements MOST cost-effectively?

A. Store individual files with tags in Amazon S3 Glacier Instant Retrieva

B. Query the tags to retrieve the files from S3 Glacier Instant Retrieval.

C. Store individual files in Amazon S3 Intelligent-Tierin

D. Use S3 Lifecycle policies to move the files to S3 Glacier Flexible Retrieval after 1 yea
E. Query and retrieve the files that are in Amazon S3 by using Amazon Athen

F. Query and retrieve the files that are in S3 Glacier by using S3 Glacier Select.

G. Store individual files with tags in Amazon S3 Standard storag

H. Store search metadata for each archive in Amazon S3 Standard storag

I. Use S3 Lifecycle policies to move the files to S3 Glacier Instant Retrieval after 1 yea
J. Query and retrieve the files by searching for metadata from Amazon S3.

K. Store individual files in Amazon S3 Standard storag

L. Use S3 Lifecycle policies to move the files to S3 Glacier Deep Archive after 1 yea
M. Store search metadata in Amazon RD

N. Query the files from Amazon RD

O. Retrieve the files from S3 Glacier Deep Archive.

Answer: C

NEW QUESTION 24

A company is preparing to store confidential data in Amazon S3 For compliance reasons the data must be encrypted at rest Encryption key usage must be logged
tor auditing purposes. Keys must be rotated every year.

Which solution meets these requirements and «the MOST operationally efferent?

A. Server-side encryption with customer-provided keys (SSE-C)

B. Server-side encryption with Amazon S3 managed keys (SSE-S3)

C. Server-side encryption with AWS KMS (SSE-KMS) customer master keys (CMKs) with manual rotation
D. Server-side encryption with AWS KMS (SSE-KMS) customer master keys (CMKSs) with automate rotation
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Answer: D

Explanation:

https://docs.aws.amazon.com/kms/latest/developerguide/rotate-keys.html

When you enable automatic key rotation for a customer managed key, AWS KMS generates new cryptographic material for the KMS key every year. AWS KMS
also saves the KMS key's older cryptographic material in perpetuity so it can be used to decrypt data that the KMS key encrypted.

Key rotation in AWS KMS is a cryptographic best practice that is designed to be transparent and easy to use.

AWS KMS supports optional automatic key rotation only for customer managed CMKs. Enable and disable key rotation. Automatic key rotation is disabled by
default on customer managed CMKs. When you enable (or re-enable) key rotation, AWS KMS automatically rotates the CMK 365 days after the enable date and
every 365 days thereafter.

NEW QUESTION 28

A company collects data from thousands of remote devices by using a RESTful web services application that runs on an Amazon EC2 instance. The EC2 instance
receives the raw data, transforms the raw data, and stores all the data in an Amazon S3 bucket. The number of remote devices will increase into the millions soon.
The company needs a highly scalable solution that minimizes operational overhead.

Which combination of steps should a solutions architect take to meet these requirements9 (Select TWO.)

A. Use AWS Glue to process the raw data in Amazon S3.

B. Use Amazon Route 53 to route traffic to different EC2 instances.

C. Add more EC2 instances to accommodate the increasing amount of incoming data.

D. Send the raw data to Amazon Simple Queue Service (Amazon SOS). Use EC2 instances to process the data.
E. Use Amazon API Gateway to send the raw data to an Amazon Kinesis data strea

F. Configure Amazon Kinesis Data Firehose to use the data stream as a source to deliver the data to Amazon S3.

Answer: BE

NEW QUESTION 30

A company is expecting rapid growth in the near future. A solutions architect needs to configure existing users and grant permissions to new users on AWS The
solutions architect has decided to create IAM groups The solutions architect will add the new users to IAM groups based on department

Which additional action is the MOST secure way to grant permissions to the new users?

A. Apply service control policies (SCPs) to manage access permissions

B. Create IAM roles that have least privilege permission Attach the roles lo the IAM groups

C. Create an IAM policy that grants least privilege permission Attach the policy to the IAM groups

D. Create IAM roles Associate the roles with a permissions boundary that defines the maximum permissions

Answer: C

NEW QUESTION 35

A gaming company is moving its public scoreboard from a data center to the AWS Cloud. The company uses Amazon EC2 Windows Server instances behind an
Application Load Balancer to host its dynamic application. The company needs a highly available storage solution for the application. The application consists of
static files and dynamic server-side code.

Which combination of steps should a solutions architect take to meet these requirements? (Select TWO.)

. Store the static files on Amazon S3. Use Amazon

. CloudFront to cache objects at the edge.

. Store the static files on Amazon S3. Use Amazon ElastiCache to cache objects at the edge.

. Store the server-side code on Amazon Elastic File System (Amazon EFS). Mount the EFS volume on each EC2 instance to share the files.
. Store the server-side code on Amazon FSx for Windows File Serve

. Mount the FSx for Windows File Server volume on each EC2 instance to share the files.

. Store the server-side code on a General Purpose SSD (gp2) Amazon Elastic Block Store (Amazon EBS) volum

. Mount the EBS volume on each EC2 instance to share the files.

IOTTmMmoOOm®>

Answer: AE

NEW QUESTION 38

A company is implementing a new business application The application runs on two Amazon EC2 instances and uses an Amazon S3 bucket for document storage
A solutions architect needs to ensure that the EC? instances can access the S3 bucket

What should the solutions architect do to moot this requirement?

A. Create an IAM role that grants access to the S3 bucke

B. Attach the role to the EC2 Instances.

C. Create an IAM policy that grants access to the S3 bucket Attach the policy to the EC2 Instances

D. Create an IAM group that grants access to the S3 bucket Attach the group to the EC2 instances

E. Create an IAM user that grants access to the S3 bucket Attach the user account to the EC2 Instances

Answer: C

NEW QUESTION 39

A company has an on-premises MySQL database that handles transactional data The company is migrating the database to the AWS Cloud The migrated
database must maintain compatibility with the company's applications that use the database The migrated database also must scale automatically during periods
of increased demand.

Which migration solution will meet these requirements?

A. Use native MySQL tools to migrate the database to Amazon RDS for MySQL Configure elastic storage scaling

B. Migrate the database to Amazon Redshift by using the mysgldump utility Turn on Auto Scaling for the Amazon Redshift cluster

C. Use AWS Database Migration Service (AWS DMS) to migrate the database to Amazon Aurora Turn on Aurora Auto Scaling.

D. Use AWS Database Migration Service (AWS DMS) to migrate the database to Amazon DynamoDB Configure an Auto Scaling policy.
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Answer: C

NEW QUESTION 42

A company has five organizational units (OUS) as part of its organization in AWS Organization. Each OU correlate to the five business that the company owns.
The company research and development R&D business is separating from the company and will need its own organization. A solutions architect creates a
separate new management account for this purpose.

A. Have the R&D AWS account be part of both organizations during the transition.

B. Invite the R&D AWS account to be part of the new organization after the R&D AWS account has left the prior organization.
C. Create a new R&D AWS account in the new organizatio

D. Migrate resources from the period R&D AWS account to thee new R&D AWS account

E. Have the R&D AWS account into the now organisatio

F. Make the now management account a member of the prior organisation

Answer: B

NEW QUESTION 46

A company uses an Amazon Auroia PostgreSQL DB cluster 10 store its critical data m tne us-east-l Region The company wants to develop a disaster recovery
plan to recover the database m the us west 1 Region The company has a recovery time objective (RTO) of S minutes and has a recovery point objective (RPO) of
1 minute

What should a solutions architect do to moot these requirements?

A. Create a read replica in us-west-1 Set the DB cluster to automakKaliy fail over to the read replica if the primary instance is not responding

B. Create an Aurora global database Sel us-west-1 as the secondary Region update connections to use the writer and reader endpomis as appropriate

C. Set up a second Aurora DB cluster in us-west-1 Use logical replication to keep the databases synchronized Create an Amazon EvontBridgc (Amazon
CloudWatch Events) rule to change thedatabase endpoint rf the primary DB cluster does not respond.

D. Use Aurora automated snapshots to store data in an Amazon S3 bucket Enable S3 Verswnm

E. Configure S3 Cross-Region Replication to us-west-1 Create a second Aurora DB cluster in us-west-1 Create an Amazon EventBndge (Amazon CloudWatch
Events) rule to restore the snapshot il the primary D8 cluster does not respond

Answer: B

NEW QUESTION 51

A gaming company hosts a browser-based application on AWS The users of the application consume a large number of videos and images that are stored in
Amazon S3. This content is the same for all users

The application has increased in popularity, and millions of users worldwide are accessing these media files. The company wants to provide the files to the users
while reducing the load on the origin

Which solution meets these requirements MOST cost-effectively?

A. Deploy an AWS Global Accelerator accelerator in front of the web servers

B. Deploy an Amazon CloudFront web distribution in front of the S3 bucket

C. Deploy an Amazon ElastiCache for Redis instance in front of the web servers

D. Deploy an Amazon ElastiCache for Memcached instance in front of the web servers

Answer: B

Explanation:
CloudFront uses Edge Locations to cache content while Global Accelerator uses Edge Locations to find an optimal pathway to the nearest regional endpoint.

NEW QUESTION 53
Availability Zone The company wants the application to be highly available with minimum downtime and minimum loss of data
Which solution will meet these requirements with the LEAST operational effort?

A. Place the EC2 instances in different AWS Regions Use Amazon Route 53 health checks to redirect traffic Use Aurora PostgreSQL Cross-Region Replication

B. Configure the Auto Scaling group to use multiple Availability Zones Configure the database as Multi-AZ Configure an Amazon RDS Proxy instance for the
database

C. Configure the Auto Scaling group to use one Availability Zone Generate hourly snapshots of the database Recover the database from the snapshots in the
event of a failure.

D. Configure the Auto Scaling group to use multiple AWS Regions Write the data from the application to Amazon S3 Use S3 Event Notifications to launch an AWS
Lambda function to write the data to the database

Answer: B

NEW QUESTION 56

A company uses a popular content management system (CMS) tot its corporate website. However, the required patching and maintenance are burdensome. The
company is redesigning its website and wants a new solution. The website will be updated tour times a year and does not need to have any dynamic content
available The solution must provide high scalability and enhanced security

Which combination of changes will meet those requirements with the LEAST operational overhead? (Select TWO)

A. Deploy an AWS WAF web ACL in front of the website to provide HTTPS functionality

B. Create and deploy an AWS Lambda function to manage and serve the website content

C. Create the new website and an Amazon S3 bucket Deploy the website on the S3 bucket with static website hosting enabled
D. Create the new websit

E. Deploy the website by using an Auto Scaling group of Amazon EC2 instances behind an Application Load Balancer.

Answer: D
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NEW QUESTION 59

A company is hosting a website from an Amazon S3 bucket that is configured for public hosting. The company’s security team mandates the usage of secure
connections for access to the website. However; HTTP-based URLS and HTTPS-based URLS mist be functional.

What should a solution architect recommend to meet these requirements?

A. Create an S3 bucket policy to explicitly deny non-HTTPS traffic.

B. Enable S3 Transfer Acceleratio

C. Select the HTTPS Only bucket property.

D. Place thee website behind an Elastic Load Balancer that is configured to redirect HTTP traffic to HTTTPS.

E. Serve the website through an Amazon CloudFront distribution that is configured to redirect HTTP traffic to HTTPS.

Answer: D

NEW QUESTION 62

A company hosts an application on AWS. The application uses AWS Lambda functions and stores data in Amazon DynamoDB tables. The Lambda functions are
connected to a VPC that does not have internet access.

The traffic to access DynamoDB must not travel across the internet. The application must have write access to only specific DynamoDB tables.

Which combination of steps should a solutions architect take to meet these requirements? (Select TWO.)

A. Attach a VPC endpoint policy for DynamoDB to allow write access to only the specific DynamoDB tables.

B. Attach a security group to the interface VPC endpoint to allow write access to only the specific DynamoDB tables.
C. Create a resource-based 1AM policy to grant write access to only the specific DynamoDB table

D. Attach the policy to the DynamoDB tables.

E. Create a gateway VPC endpoint for DynamoDB that is associated with the Lambda VP

F. Ensure that the Lambda execution role can access the gateway VPC endpoint.

G. Create an interface VPC endpoint for DynamoDB that is associated with the Lambda VP

H. Ensure that the Lambda execution role can access the interface VPC endpoint.

Answer: AD

NEW QUESTION 66

A company has developed a new content-sharing application that runs on Amazon Elastic Container Service (Amazon ECS). The application runs on Amazon
Linux Docker tasks that use the Amazon EC2 launch type. The application requires a storage solution that has the following characteristics:

» Accessibility (or multiple ECS tasks through bind mounts

* Resiliency across Availability Zones

* Burstable throughput of up to 3 Gbps

* Ability to be scaled up over time

Which storage solution meets these requirements?

A. Launch an Amazon FSx for Windows File Server Multi-AZ instanc

B. Configure the ECS task definitions to mount the Amazon FSx instance volume at launch.

C. Launch an Amazon Elastic File System (Amazon EFS) instanc

D. Configure the ECS task definitions to mount the EFS Instance volume at launch.

E. Create a Provisioned IOPS SSD (io2) Amazon Elastic Block Store (Amazon EBS) volume with Multi-Attach set to enable

F. Attach the EBS volume to the ECS EC2 instance Configure ECS task definitions to mount the EBS instance volume at launch.

G. Launch an EC2 instance with several Provisioned IOPS SSD (k>2) Amazon Elastic Block Store (Amazon EBS) volumes attached m a RAID 0 configuratio
H. Configure the EC2 instance as an NFS storage serve

I. Configure ECS task definitions to mount the volumes at launch.

Answer: B

NEW QUESTION 67

An image-processing company has a web application that users use to upload images. The application uploads the images into an Amazon S3 bucket. The
company has set up S3 event natifications to publish the object creation events to an A company has a service that produces event queue. The SQS queue serves
as the event source for an AWS Lambda function that processes the images and sends the results to users through email.

Users report that they are receiving multiple email messages for every uploaded image. A solutions architect determines that SQS messages are invoking the
Lambda function more than once, resulting in multiple email messages.

What should the solutions architect do to resolve this issue with the LEAST operational overhead?

A. Set up long polling in the SQS queue by increasing the ReceiveMessage wait time to 30 seconds.

B. Change the SQS standard queue to an SQS FIFO queu

C. Use the message deduplication ID to discard duplicate messages.

D. Increase the visibility timeout in the SQS queue to a value that is greater than the total of the function timeout and the batch window timeout.
E. Modify the Lambda function to delete each message from the SQS queue immediately after the message is read before processing.

Answer: B

NEW QUESTION 70

A company wants to establish connectivity between its on-premlises data center and AWS (or an existing workload. The workload runs on Amazon EC2 Instances
in two VPCs In different AWS Regions. The VPCs need to communicate with each other. The company needs to provide connectivity from Its data center to both
VPCs. The solution must support a bandwidth of 600 Mbps to the data center.

Which solution will meet these requirements?

A. Set up an AWS Site-to-Site VPN connection between the data center and one VP
B. Create a VPC peering connection between the VPCs.

C. Set up an AWS Site-to-Site VPN connection between the data center and each VP
D. Create a VPC peering connection between the VPCs.

E. Set up an AWS Direct Connect connection between the data center and one VP

F. Create a VPC peering connection between the VPCs.
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G. Create a transit gatewa
H. Attach both VPCs to the transit gatewa
I. Create an AWS Slte-to-Site VPN tunnel to the transit gateway.

Answer: B

NEW QUESTION 75

A company is planning on deploying a newly built application on AWS in a default VPC. The application will consist of a web layer and database layer. The web
server was created in public subnets, and the MySQL database was created in private subnet. All subnets are created with the default network ACL settings, and
the default security group in the VPC will be replaced with new custom security groups.

A. Create a database server security group with inbound and outbound rules for MySQL port 3306 traffic to and from anywhere (0.0.0.0/0).

B. Create a database server security group with an inbound rule for MySQL port 3300 and specify the source as a web server security group.

C. Create a web server security group within an inbound allow rule for HTTPS port 443 traffic from anywbere (0.0.0.0/0) and an inbound deny rule for IP range
182. 20.0.0/16

D. Create a web server security group with an inbound rule for HTTPS port 443 traffic from anywhere (0.0.0.0/0). Create network ACL inbound and outbound deny
rules for IP range 182. 20.0.0/16

E. Create a web server security group with an inbound and outbound rules for HTTPS port 443 traffic to and from anywbere (0.0.0.0/0). Create a network ACL
inbound deny rule for IP range 182. 20.0.0/16.

Answer: BD

NEW QUESTION 76

A company is running an application in a private subnet in a VPC win an attached internet gateway The company needs to provide the application access to the
internet while restricting public access to the application The company does not want to manage additional infrastructure and wants a solution that is highly
available and scalable

Which solution meets these requirements?

A. Create a NAT gateway in the private subne

B. Create a route table entry from the private subnet to the internet gateway

C. Create a NAT gateway m a public subnet Create a route table entry from the private subnet to the NAT gateway

D. Launch a NAT instance m the private subnet Create a route table entry from the private subnet lo the internet gateway
E. Launch a NAT Instance in a public subnet Create a route table entry from the private subnet to the NAT instance.

Answer: A

NEW QUESTION 80

A company wants to migrate its on-premises application to AWS. The application produces output files that vary in size from tens of gigabytes to hundreds of
terabytes The application data must be stored in a standard file system structure The company wants a solution that scales automatically, is highly available, and
requires minimum operational overhead.

Which solution will meet these requirements?

A. Migrate the application to run as containers on Amazon Elastic Container Service (Amazon ECS) Use Amazon S3 for storage

B. Migrate the application to run as containers on Amazon Elastic Kubernetes Service (Amazon EKS) Use Amazon Elastic Block Store (Amazon EBS) for storage
C. Migrate the application to Amazon EC2 instances in a Multi-AZ Auto Scaling grou

D. Use Amazon Elastic File System (Amazon EFS) for storage.

E. Migrate the application to Amazon EC2 instances in a Multi-AZ Auto Scaling grou

F. Use Amazon Elastic Block Store (Amazon EBS) for storage.

Answer: C

NEW QUESTION 82

A company has an AWS Glue extract. transform, and load (ETL) job that runs every day at the same time. The job processes XML data that is in an Amazon S3
bucket.

New data is added to the S3 bucket every day. A solutions architect notices that AWS Glue is processing all

the data during each run.

What should the solutions architect do to prevent AWS Glue from reprocessing old data?

A. Edit the job to use job bookmarks.

B. Edit the job to delete data after the data is processed
C. Edit the job by setting the NumberOfWorkers field to 1.
D. Use a FindMatches machine learning (ML) transform.

Answer: B

NEW QUESTION 87

A company that primarily runs its application servers on premises has decided to migrate to AWS. The company wants to minimize its need to scale its Internet
Small Computer Systems Interface (iISCSI) storage on premises. The company wants only its recently accessed data to remain stored locally.

Which AWS solution should the company use to meet these requirements?

A. Amazon S3 File Gateway

B. AWS Storage Gateway Tape Gateway

C. AWS Storage Gateway Volume Gateway stored volumes
D. AWS Storage Gateway Volume Gateway cachea volumes

Answer: D
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NEW QUESTION 90

An online retail company has more than 50 million active customers and receives more than 25,000 orders each day. The company collects purchase data for
customers and stores this data in Amazon S3. Additional customer data is stored in Amazon RDS.

The company wants to make all the data available to various teams so that the teams can perform analytics. The solution must provide the ability to manage fine-
grained permissions for the data and must minimize operational overhead.

Which solution will meet these requirements?

A. Migrate the purchase data to write directly to Amazon RD

B. Use RDS access controls to limit access.

C. Schedule an AWS Lambda function to periodically copy data from Amazon RDS to Amazon S3. Create an AWS Glue crawle
D. Use Amazon Athena to query the dat

E. Use S3 policies to limit access.

F. Create a data lake by using AWS Lake Formatio

G. Create an AWS Glue JOBC connection to Amazon RD

H. Register the S3 bucket in Lake Formatio

I. Use Lake

J. Formation access controls to limit acces

K. Create an Amazon Redshift cluster Schedule an AWS Lambda function to periodically copy data from Amazon S3 and Amazon RDS to Amazon Redshif
L. Use Amazon Redshift access controls to limit access.

Answer: C

NEW QUESTION 93

A company has an application that processes customer of tiers. The company hosts the application on an Amazon EC2 instance that saves the orders to an
Amazon Aurora database. Occasionally when traffic Is high, the workload does not process orders fast enough.

What should a solutions architect do to write the orders reliably to the database as quickly as possible?

A. Increase the instance size of the EC2 instance when baffle Is hig

B. Write orders to Amazon Simple Notification Service (Amazon SNS) Subscribe the database endpoint to the SNS topic

C. Write orders to an Amazon Simple Queue Service (Amazon SOS) queue Use EC2 instances in an Auto Scaling group behind an Application Load Balancer to
read born the SQS queue and process orders into the database

D. Write orders to Amazon Simple Notification Service (Amazon SNS). Subscribe the database endpoint to the SNS topi

E. Use EC2 ~stances in an Auto Scaling group behind an Application Load Balancer to read from the SNS topic.

F. Write orders to an Amazon Simple Queue Service (Amazon SQS) queue when the EC2 instance reaches CPU threshold limit

G. Use scheduled scaling of EC2 instances in an Auto Scaling group behind an Application Load Balancer to read from the SQS queue and process orders into
the database

Answer: B

NEW QUESTION 98

A company wants to run its critical applications in containers to meet requirements tor scalability and availability The company prefers to focus on maintenance of
the critical applications The company does not want to be responsible for provisioning and managing the underlying infrastructure that runs the containerized
workload

What should a solutions architect do to meet those requirements?

A. Use Amazon EC2 Instances, and Install Docker on the Instances

B. Use Amazon Elastic Container Service (Amazon ECS) on Amazon EC2 worker nodes

C. Use Amazon Elastic Container Service (Amazon ECS) on AWS Fargate

D. Use Amazon EC2 instances from an Amazon Elastic Container Service (Amazon ECS)-op6mized Amazon Machine Image (AMI).

Answer: C

Explanation:
using AWS ECS on AWS Fargate since they requirements are for scalability and availability without having to provision and manage the underlying infrastructure
to run the containerized workload. https://docs.aws.amazon.com/AmazonECS/latest/userguide/what-is-fargate.html

NEW QUESTION 101

An online retail company needs to run near-real-time analytics on website traffic to analyze top-selling products across different locations. The product purchase
data and the user location details are sent to a third-party application that runs on premises The application processes the data and moves the data into the
company's analytics engine

The company needs to implement a cloud-based solution to make the data available for near-real-time analytics.

Which solution will meet these requirements with the LEAST operational overhead?

A. Use Amazon Kinesis Data Streams to ingest the data Use AWS Lambda to transform the data Configure Lambda to write the data to Amazon Amazon
OpenSearch Service (Amazon Elasticsearch Service)

B. Configure Amazon Kinesis Data Streams to write the data to an Amazon S3 bucket Schedule an AWS Glue crawler job to enrich the data and update the AWS
Glue Data Catalog Use Amazon Athena for analytics

C. Configure Amazon Kinesis Data Streams to write the data to an Amazon S3 bucket Add an Apache Spark job on Amazon EMR to enrich the data in the S3
bucket and write the data to Amazon OpenSearch Service (Amazon Elasticsearch Service)

D. Use Amazon Kinesis Data Firehose to ingest the data Enable Kinesis Data Firehose data transformation with AWS Lambda Configure Kinesis Data Firehose to
write the data to Amazon OpenSearch Service (Amazon Elasticsearch Service).

Answer: C

NEW QUESTION 102

A company wants to reduce the cost of its existing three-tier web architect. The web, application, and database servers are running on Amazon EC2 instance EC2
instance for the development, test and production environments. The EC2 instances average 30% CPU utilization during peak hours and 10% CPU utilization
during non-peak hours.

The production EC2 instance purchasing solution will meet the company’s requirements MOST cost-effectively?
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A. Use Spot Instances for the production EC2 instance

B. Use Reserved Instances for the development and test EC2 instances

C. Use Reserved Instances for the production EC2 instance

D. Use On-Demand Instances for the development and test EC2 instances

E. Use blocks for the production FC2 ins ranges Use Reserved instances for the development and lest EC2 instances
F. Use On-Demand Instances for the production EC2 instance

G. Use Spot blocks for the development and test EC2 instances

Answer: B

NEW QUESTION 104

A company wants to create a mobile app that allows users to stream slow-motion video clips on their mobile devices Currently, the app captures video clips and
uploads the video clips in raw format into an Amazon S3 bucket The app retrieves these video clips directly from the S3 bucket. However the videos are large in
their raw format.

Users are experiencing issues with buffering and playback on mobile devices. The company wants to implement solutions to maximize the performance and
scalability of the app while minimizing operational overhead

Which combination of solutions will meet these requirements? (Select TWO.)

A. Deploy Amazon CloudFront for content delivery and caching

B. Use AWS DataSync to replicate the video files across AWS Regions in other S3 buckets

C. Use Amazon Elastic Transcoder to convert the video files to more appropriate formats

D. Deploy an Auto Scaling group of Amazon EC2 instances in Local Zones for content delivery and caching

E. Deploy an Auto Scaling group of Amazon EC2 instances to convert the video files to more appropriate formats

Answer: CD

NEW QUESTION 105

A company hosts an application on AWS Lambda functions mat are invoked by an Amazon API Gateway API The Lambda functions save customer data to an
Amazon Aurora MySQL database Whenever the company upgrades the database, the Lambda functions fail to establish database connections until the upgrade is
complete The result is that customer data Is not recorded for some of the event

A solutions architect needs to design a solution that stores customer data that is created during database upgrades

Which solution will meet these requirements?

A. Provision an Amazon RDS proxy to sit between the Lambda functions and the database Configure the Lambda functions to connect to the RDS proxy

B. Increase the run time of me Lambda functions to the maximum Create a retry mechanism in the code that stores the customer data in the database

C. Persist the customer data to Lambda local storag

D. Configure new Lambda functions to scan the local storage to save the customer data to the database.

E. Store the customer data m an Amazon Simple Queue Service (Amazon SOS) FIFO queue Create a new Lambda function that polls the queue and stores the
customer data in the database

Answer: C

NEW QUESTION 106
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